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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

.15 7

.50 A

. 25 A

.00 A

WEE

.50 A

. 25 A

Warning: col ['FVOPH ] is missing

—@— PHO

60

80

100

120

140




Trend plot forXX6 0
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XX6

AyiE) | EBIATK (FD) | EBE (EHA/K) | KR EFRE

07:50 69 20.0 i) FEA@07:50 (K FAIEREE)
08:45 69 20.0 i FnH#fe08:45 (KRFERES)
09:40 69 20.0 i FiHA@09:40 (KRFERE)
10:35 69 20.0 i ¥HRe@10:35 (KRFEREE)
11:30 69 20.0 i FiEA@11:30 (KRAIERSE)
12:25 69 20.0 i ¥iHRe12:25 (KRFEERES)
13:25 69 20.0 i FiHfe13:25 (RFEERE)
14:25 69 20. 0 i FiEA@14:25 (RAERSE)
2it| 552.0 (8)%) 160.0 323 KEC: 2496.6, PH: 6.5

unusual large postFgEt from yesterday (65), set to 60.0 ml.




XX6_0, Day=147 (2025-03-22)
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BriE) | EBIATK (FD) | EHE (EHRH/K) | XK ERE

07:15 171 20.0 i BRi&@07:15 (KPBIEREE)
08:05 171 20. 0 i {312@08:05 (KRF{ERLEE)
08:55 171 20.0 i {RR1%@08:55 (K FHIERLEE)
10:10 171 20.0 i Bi1%@10:10 (REERZE)
11:20 171 20.0 i BRige11:20 (REERSE)
12:15 171 20.0 i Ri%e12:15 (RAERRSS)
13:00 171 20.0 i ;Ri&@13:00 (kPB{EREE)
13:50 171 20.0 i B18@13:50 (KRFERLEE)
14:45 171 20.0 i 1Ri%e14:45 (K BERKS)
16:00 171 20.0 i BRi%@16:00 (FKPBIERE)
2it|1710.0 (10X%) 200. 0 EFREC: 2500, PH: 6.5

ERGEBR R CRIRIRBIEN (170.0 vs 69.0))

ZRIA L PRIEBT49. 0 ml.




XX6_0, Day=146.0 (2025-03-21)
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XX6

FriE) | BRI (D) | ERE (EA/K) | XK R

07:50 170 10.0 i BRi&%@07:50 (K FIEREE)
08:20 170 10.0 i B31%@08:20 (KFERH:E)
08:50 170 10.0 i ’R1%@08:50 (kKAL)
09:20 170 10.0 i BRi&@09:20 (KRFERE)
09:50 170 10.0 i 1ii1%@09:50 (K FAfER%=2)
10:30 170 10.0 i B31%@10:30 (KRAEHE)
11:15 170 10.0 i Bige11:15 (REERSE)
11:50 170 10.0 i Ri%@11:50 (FRPERSS)
12:25 170 10.0 i Rige12:25 (kKBfEREE)
13:00 170 10.0 i Ri%@13:00 (RFFERLER)
13:30 170 10.0 i Bi&@13:30 (KRF1EREE)
14:00 170 10.0 i B2i1%014:00 (KREAEHZE)
14:35 170 10.0 i Bige14:35 (KRFEEREE)
15:20 170 10.0 i 1RRi%@15:20 (KAL)
21t 2380.0 (14)%) 140.0 EUHKEC: 2500, PH: 6.4

EORGEBR R CRIRIRBIEIN (172.0 vs 34.0))

2RI\ L PRIEEE50. 0 ml.




XX6_0, Day=145.0 (2025-03-20)
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XX6

FriE) | BRI (D) | ERE (EA/K) | XK R

07:45 171 10.0 i 18007 :45 (RFERLEE)
08:20 171 10.0 i B31%@08:20 (KFERH:E)
08:50 171 10.0 i ’R1%@08:50 (kKAL)
09:25 171 10.0 i BRi&@09:25 (KRFERE)
10:00 171 10.0 i 1RRi%@10:00 (K FBfER=R)
10:45 171 10.0 i BRi&@10:45 (kKBfERE)
11:25 171 10.0 i Bige11:25 (REERSE)
12:00 171 10.0 i RRi%@12:00 (FKPHERSS)
12:45 171 10.0 i Rige12:45 (kKBfERE)
13:35 171 10.0 i Ri1%@13:35 (RFFERER)
14:15 171 10.0 i Ri%e14:15 (RAERSS)
14:55 171 10.0 i B2i%014:55 (REEBZE)
15:30 171 10.0 i BRi%@15:30 (KRAIERSE)
16:15 171 10.0 i 1RRi%e16:15 (K BAERK=R)
23t 2394.0 (14%) 140.0 EUHKEC: 2500, PH: 6.4

EIRGEBRBTHCRIZR BN (170.0 vs

ZRIA L PRIEBT49. 0 ml.

34.0))




XX6_0, Day=144.0 (2025-03-19)
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13:45 170 10.0 i 1Ri%@13:45 (K BERKS)
14:30 170 10.0 i B1%@14:30 (REERHE)
2it|1700.0 (10X%) 100.0 EFREC: 2500, PH: 6.5

EORGEBR AR IRHR BN E (170.0 vs 36.0))

ZRIA L PRIEBT48. 0 ml.

unusual large postFgEt from yesterday (34), set to 30.0 ml.
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